Bid Rfq Num 72541 Auction Title 10-24 Dry and Staple Foods for Student Nutrition Services (SNS)

*CONFIDENTIAL

	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
1	N	3TQ	APPLE SAUCE, CHUNKY, FANCY, LOW SUGAR OR UNSWEETENED. Product of US preferred.	500	CS	ATLANTIC BEVERAGE COMPANY	24.68	12,340.00
	Υ					*BRAUN BEEF CO INC		
						ROBBINS SALES COMPANY, INC.	26.90	13,450.00
						THE MASTERS DISTRIBUTION SYSTEMS	32.00	16,000.00
						*CHURCHFIELD TRADING COMPANY		
2	Y		APPLE CRISPS, DRIED, NATURAL STRAWBERRY FLAVOR ADDED, NO ALLERGENS, 0.34 OZ PACKAGES, 125/0.34oz/CS	750	cs	THE MASTERS DISTRIBUTION SYSTEMS	32.89	24,667.50
						*BRAUN BEEF CO INC		
4	Υ		BEANS, PINTO, GRADE A	550	CS	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	27.65	15,207.50
						BUSH BROTHERS & COMPANY	28.53	15,691.50

				ID TABULATION GARLAND INDEPENDENT SCHOOL DISTRICT				
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
						*CHURCHFIELD TRADING COMPANY		
5	Y		BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE	500	CS	*BRAUN BEEF CO INC		
						THE MASTERS	32.40	16,200.00
						DISTRIBUTION SYSTEMS	32.10	10,200,00
						BUSH BROTHERS & COMPANY	40.84	20,420.00
						*CHURCHFIELD TRADING COMPANY		
6	Y		BEANS, REFRIED, SMOOTH	1,200	CS	BASIC AMERICAN INC	28.64	34,368.00
			WITH WHOLE BEANS, VEGETARIAN, LOW SODIUM, NOT TO CONTAIN MORE THAN 200mg PER 1/2 CUP SERVING	, ,				ŕ
						THE MASTERS DISTRIBUTION SYSTEMS	43.91	52,692.00
7	Y		CANNED JUICE SPARKLING, VARIETY FLAVORS, 100% JUICE, 8 OZ CANS	850	CS	*BRAUN BEEF CO INC		
						THE MASTERS	17.25	14,662.50
						DISTRIBUTION SYSTEMS	17.23	14,002.30
8	Y		CEREAL BAR, WHOLE GRAIN RICH, PROVIDES AT LEAST 1 OZ EQUIVALENT GRAIN, USDA SMART SNACK APPROVED, VARIETY FLAVORS	500	CS	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	32.54	16,270.00

	l	1-				ID INDEPENDENT SCHOOL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	иом	Supplier NATIONAL FOOD GROUP INC	40.00	20,000.00
9	Y		CEREAL, BLUEBERRY CHEX, BOWL PACK, AT LEAST 51 % WHOLE GRAIN, NUT-FREE, GLUTEN, FREE, 6G OR LESS SUGAR, 1OZ GRAIN EQUIVALENT	2,000	CS	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	30.02	60,040.00
						*CHURCHFIELD TRADING COMPANY		
10	Y		CEREAL, CHOCOLATE COCOA FLAVOR, BOWL PACK, 96 CT, 25% LESS SUGAR PREFERRED, NO MORE THAN 8 GRAMS SUGAR PER BOWL, PRIMARY INGREDIENT MUST BE WHOLE GRAIN CORN	2,800	CS	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	30.02	84,056.00
						*CHURCHFIELD TRADING COMPANY		
11	Y		CEREAL, CINNAMON TOAST FLAVOR, BOWL PACK, 96 CT, 25% LESS SUGAR PREFERRED, NO MORE THAN 6 GRAMS SUGAR PER BOWL, PRIMARY INGREDIENT MUST BE WHOLE GRAIN WHEAT	2,000	cs	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	30.02	60,040.00
						*CHURCHFIELD TRADING COMPANY		
12	Y		CEREAL, FROSTED FLAKES FLAVOR, BOWL PACK, NO MORE THAN 8 GRAMS SUGAR PER BOWL, 51% WHOLE GRAIN CORN	1,200	cs	*BRAUN BEEF CO INC		

		-				D INDEPENDENT SCHOOL		
	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier		xtended Price
						THE MASTERS DISTRIBUTION SYSTEMS	30.02	36,024.00
						*CHURCHFIELD TRADING COMPANY		
13	Y		CEREAL, HONEY CHEERIOS, BOWL PAK, AT LEAST 51% WHOLE GRAIN, NUT-FREE, 6 GRAMS OR LESS SIGAR, 10Z GRAIN EQUIVALENT	2,000	CS	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	30.02	60,040.00
						*CHURCHFIELD TRADING COMPANY		
14	Y		CEREAL, HONEY GRAHAM FLAVOR, BOWL PACK, LOW SUGAR PREFERED, PRIMARY INGREDIENT MUST BE WHOLE GRAIN WHEAT, NO ARTIFICIAL FLAVORS OR COLORS, NO HIGH FRUCTOSE CORN SYRUP	1,000	CS	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	30.02	30,020.00
15	Y		CEREAL, MARSHMALLOW FLAVOR, BOWL PACK, 96 CT, LOW SUGAR PREFERED, PRIMARY INGREDIENT MUST BE WHOLE GRAIN OATS, GLUTEN FREE	2,800	cs	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	30.02	84,056.00
16	Y		CEREAL, LOWER SUGAR, FRUITY RINGS, WHOLE GRAIN OAT CEREAL. GLUTEN-FREE, NO ARTIFICIAL COLORS OR FLAVORS. NO HIGH FRUCTOSE CORN SYRUP. 9 GRAMS OF SUGAR OR LESS.	1,000	cs	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	30.02	30,020.00

17	Ln#	Award	Reason	Item Description	Quantity		ND INDEPENDENT SCHOO Supplier	Price	Extended Price
18		(Y/N)							
DISTRIBUTION SYSTEMS 18 Y CHERRIES HALVES 6/.5 GAL / 200 CS SCHREBBE FOODS (S. 3.90 10,780.0	17	Y		1	250	CS	BRAUN BEEF CO INC		
19 N 3TQ CHICKPEA ROASTED, FLAVOR 300 CS BUSH BROTHERS & 62.50 18,750.00								38.90	9,725.00
VARIETY, MUST MEET 1M/M ALTERNATE, INV	18	Y		1	200	CS		53.90	10,780.00
20 Y	19	N	3TQ	VARIETY, MUST MEET 1M/M	300	CS		62.50	18,750.00
THE MASTERS DISTRIBUTION SYSTEMS *ES FOODS **ES FOODS **		Y							
DISTRIBUTION SYSTEMS *ES FOODS *ES FOODS THE MASTERS DISTRIBUTION SYSTEMS 180.75 9,037.51 22 Y CORNSTARCH, 24/16 OZ/CASE 23 Y CRACKERS, SALTINE, 51% WHOLE GRAIN, INDIVIUALLY DISTRIBUTION SYSTEMS 180.75 9,037.51 180.75 180.75 0,037.51 THE MASTERS DISTRIBUTION SYSTEMS 28.00 1,400.01 1,400.01	20	Y			200	CS	*BRAUN BEEF CO INC		
21 Y COFFEE, REGULAR GRIND, 8/31B OR 8/39 OZ VACUUM CANS/CASE 22 Y CORNSTARCH, 24/16 OZ/CASE 23 Y CRACKERS, SALTINE, 51% WHOLE GRAIN, INDIVIUALLY 180.75 9,037.51 50 CS THE MASTERS DISTRIBUTION SYSTEMS 28.00 1,400.01 1,000 CS THE MASTERS DISTRIBUTION SYSTEMS								31.99	6,398.00
8/3LB OR 8/39 OZ VACUUM CANS/CASE DISTRIBUTION SYSTEMS 22 Y CORNSTARCH, 24/16 50 CS THE MASTERS OZ/CASE DISTRIBUTION SYSTEMS 28.00 1,400.00 1,400.00 23 Y CRACKERS, SALTINE, 51% WHOLE GRAIN, INDIVIUALLY DISTRIBUTION SYSTEMS 21.75 21,750.00 DISTRIBUTION SYSTEMS							*ES FOODS		
OZ/CASE DISTRIBUTION SYSTEMS 23 Y CRACKERS, SALTINE, 51% WHOLE GRAIN, INDIVIUALLY DISTRIBUTION SYSTEMS 21.75 21,750.00 DISTRIBUTION SYSTEMS	21	Y		8/3LB OR 8/39 OZ VACUUM	50	CS		180.75	9,037.50
WHOLE GRAIN, INDIVIUALLY DISTRIBUTION SYSTEMS	22	Υ			50	CS		28.00	1,400.00
	23	Υ		WHOLE GRAIN, INDIVIUALLY	1,000	CS		21.75	21,750.00

						D INDEPENDENT SCHOO		
	Award (Y/N)	Reason	Item Description	Quantity	иом	Supplier	Price	Extended Price
24			CRACKERS, VEGGIE, AT LEAST 51 % WHOLE GRAIN, 2 OZ GRAIN EQUIVALENT, IW, 180/CS	500	cs	THE MASTERS DISTRIBUTION SYSTEMS	85.60	42,800.00
25	Y		CRANBERRIES, DRIED, SWEETENED, INDIVIUAL PACKAGES, FLAVOR VARIETY, 2.5OZ, NO ARTIFICIAL FLAVORS OR PRESERVATIVES	750	CS	*BRAUN BEEF CO INC		
				THE MASTERS DISTRIBUTION SYSTEMS	44.75	33,562.50		
26	Y		CRANBERRY SAUCE, JELLIED, 6/#10 CANS	200	CS	THE MASTERS DISTRIBUTION SYSTEMS	49.50	9,900.00
	N	4MO				*CHURCHFIELD TRADING COMPANY		
27	N	9PS	DRESSING, CAESAR, SHELF STABLE, P.C., 1.5 OZ	100	cs	*BRAUN BEEF CO INC		
	Y					THE MASTERS DISTRIBUTION SYSTEMS	17.94	1,794.00
28	Y		DRESSING, ITALIAN, P.C., 1 OZ, MUST BE SHELF STABLE, 100/CS	100	cs	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	20.40	2,040.00
						*CHURCHFIELD TRADING COMPANY		
31	Υ		FRITOS, CORN CHIP, 8/16 OZ BAGS/CS, FRITO LAY # 12248 OR SIMILAR	1,400	CS	THE MASTERS DISTRIBUTION SYSTEMS	20.23	28,322.00

Ln#	Award	Reason	BID TABL Item Description	JLATION Quantity		D INDEPENDENT SCHOO Supplier		xtended Price
32	Y	FRUIT COCKTAIL, EXTRA- LIGHT SYRUP OR PACKED IN JUICE, FANCY, 6/#10 CANS. Product of US preferred.	2,000	cs	ATLANTIC BEVERAGE COMPANY *BRAUN BEEF CO INC	32.60	65,200.00	
						ROBBINS SALES COMPANY, INC.	39.98	79,960.00
						THE MASTERS DISTRIBUTION SYSTEMS	41.00	82,000.00
					SCHREIBER FOODS INTERNATIONAL INC	41.30	82,600.00	
					*CHURCHFIELD TRADING COMPANY			
33	N	9PS	FRUIT CUPS, FLAVOR VARIETY, INDIVIDUALLY PACKAGED, SHELF STABLE, 4.5 OZ (1/2 CUP) JUICE PACKED, FANCY, 96/CS OR SIMILAR	500	CS	TROPICAL PARADISE INC	26.80	13,400.00
	N 9PS	9PS			*BRAUN BEEF CO INC			
	Y					*NATIONAL FOOD GROUP INC		
						SCHREIBER FOODS INTERNATIONAL INC	39.50	19,750.00
					THE MASTERS DISTRIBUTION SYSTEMS	40.00	20,000.00	

						D INDEPENDENT SCHOO		
	Award (Y/N)	Reason	Item Description	Quantity	иом	Supplier	Price	Extended Price
34			FRUIT JUICE GELS, VARIETY FLAVOR, 100% JUICE, MUST CONTRIBUTE 0.5 CUP FRUIT	750	CS	THE MASTERS DISTRIBUTION SYSTEMS	15.75	11,812.50
35	Y		GELATIN CHERRY, SUGAR FREE 12/24 OZ.	1,000	cs	THE MASTERS DISTRIBUTION SYSTEMS	52.29	52,290.00
36	Y		GRAHAM CRACKER SNACK, WHOLE GRAIN, MUST CREDIT 1 GRAIN, IW	500	CS	*J AND J SNACK FOODS SALES CORP		
						*NATIONAL FOOD GROUP INC		
						*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	51.95	25,975.00
37	Y		GRANOLA, INDIVIDUALLY PACKAGED, 51% WHOLE GRAIN, LOW FAT, GLUTEN FREE, NO WHEAT, NO SOY INGREDIENTS, PLAIN AND FLAVOR VARIETIES	500	CS	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	82.15	41,075.00
						PRAIRIE MILLS BAKING COMPANY LLC	107.29	53,645.00
38	Y		GRAVY MIX, COUNTRY STYLE, NO TRANS FAT, NO MORE THAN 250 MG SODIUM, ADD WATER ONLY, 6/24 OZ.	800	CS	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	21.42	17,136.00

						ND INDEPENDENT SCHOOL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price Ex	xtended Price
40			JALAPENO PEPPERS, NACHO SLICED, DOMESTIC PACK IN WATER OR NATURAL JUICE, 6/#10 CANS	300	CS	ATLANTIC BEVERAGE COMPANY	27.40	8,220.00
						SCHREIBER FOODS INTERNATIONAL INC	35.10	10,530.00
						THE MASTERS DISTRIBUTION SYSTEMS	53.69	16,107.00
						*BRAUN BEEF CO INC		
41	Y		JELLY, VARIETY FLAVOR, P.C., 1.5 OZ, SHELF STABLE	2,500	CS	THE MASTERS DISTRIBUTION SYSTEMS	14.63	36,575.00
42	Υ		JUICE, VEGETABLE & FRUIT BLEND, SHELF STABLE, 4.23 OZ., 40/CASE	1,000	CS	THE MASTERS DISTRIBUTION SYSTEMS	11.40	11,400.00
						TROPICAL PARADISE INC	36.25	36,250.00
43	N	9PS	MANDARIN ORANGES, WHOLE SEGMENTS, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, 6/#10 CANS. PRODUCT OF US PREFERRED	4,000	CS	ROBBINS SALES COMPANY, INC.	29.75	119,000.00
	Y					ATLANTIC BEVERAGE COMPANY	32.29	129,160.00
						*BRAUN BEEF CO INC		
						SCHREIBER FOODS INTERNATIONAL INC	37.75	151,000.00
				-				

		I_				D INDEPENDENT SCHOOL		
	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	(17.3)					THE MASTERS DISTRIBUTION SYSTEMS	40.00	160,000.00
						*CHURCHFIELD TRADING COMPANY		
44	N	9PS	MANDARIN ORANGE CUPS, PACKED IN JUICE, 4.5 OZ, 72/CS	1,500	cs	*BRAUN BEEF CO INC		
	Y					*NATIONAL FOOD GROUP INC		
						SCHREIBER FOODS INTERNATIONAL INC	39.50	59,250.00
						THE MASTERS DISTRIBUTION SYSTEMS	40.00	60,000.00
45	Υ		MAYONNAISE, LIGHT, P.C., 12 GR, ORDERED IN SMALLER QUANTITIES, 75 CS PER	1,000	CS	THE MASTERS DISTRIBUTION SYSTEMS	17.35	17,350.00
			ORDER			*CHURCHFIELD TRADING COMPANY		
46	Y		MEAL BREAKS, CHEESE	800	CS	*ES FOODS		
			SPREAD CUP WITH VEGGIE JUICE, PRE-PACKAGED MEALS FOR LUNCH, SHELF STABLE, ES FOODS #61410 OR SIMILAR					
47	Y		MEAL BREAKS, BUTTERBALL TURKEY STICK, PRE- PACKAGED MEALS FOR SUPPER, SHELF STABLE, 30/CS	800	CS	*ES FOODS		
48	Y		MEAL BREAKS, SWEET BBQ BITES, PRE-PACKAGED MEALS FOR SUPPER, SHELF STABLE, 30/CS	800	CS	*ES FOODS		

						D INDEPENDENT SCHOOL		
		Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
49	<u>(Y/N)</u> Y		MILK SOY, VANILLA, PACIFIC NATURAL FOOD OR SUNRICH BRANDS ONLY, 24/8 OZ/CS	200	CS	THE MASTERS DISTRIBUTION SYSTEMS	14.40	2,880.00
50	Υ		MILK ALMOND, UNSWEETENED, SHELF STABLE. MUST BE DAIRY, SOY, GLUTEN AND EGG FREE. 6/80z./CASE	100	cs	THE MASTERS DISTRIBUTION SYSTEMS *BRAUN BEEF CO INC	15.53	1,553.00
51	Y		MIX, TURKEY GRAVY, ADD WATER ONLY, NO TRANS- FATS	75	CS	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	22.72	1,704.00
								. 777
						KARLSBURGER FOODS	23.40	1,755.00
52	N	9PS	MUFFIN OR QUICK BREAD MIX, 51% WHOLE GRAIN, JUST ADD WATER, VARIETY USE, 6/5LB OR SIMILAR	400	CS	*BRAUN BEEF CO INC		
	N	9PS				THE MASTERS DISTRIBUTION SYSTEMS	47.53	19,012.00
	Y					STERLING BV INC	60.00	24,000.00
53			MUSTARD, INDIVIDUAL P.C., FANCY, 4.5 GRAM, 500/CS	500	CS	THE MASTERS DISTRIBUTION SYSTEMS	13.21	6,605.00
	Υ					*CHURCHFIELD TRADING COMPANY		

Ln#	Award	Reason	Item Description	Quantity		D INDEPENDENT SCHOO Supplier	Price	Extended Price
	(Y/N)	incuson.						
54			MUSTARD, BULK, NO HIGH FRUCTOSE CORN SYRUP, TRANS FAT, OR GLUTEN, NO MORE THAN 70 MG OF SODIUM PER SERVING, 4-105 OZ JUGS/CS, FRENCH'S BRAND OR SIMILAR	300	CS	THE MASTERS DISTRIBUTION SYSTEMS	41.07	12,321.00
	Y					*CHURCHFIELD TRADING COMPANY	20.36	
55	Y		OATS, WHOLE GRAIN, QUICK COOKING	200	CS	*BRAUN BEEF CO INC	41.08	8,216.00
56	N	9PS	OATMEAL BARS, SOFT, FLAVOR VARIETY, 51% WHOLE GRAIN, SHELF STABLE, 216/1.20Z/CASE	500	cs	*BRAUN BEEF CO INC	35.52	17,760.00
	Y					*NATIONAL FOOD GROUP INC		
						THE MASTERS DISTRIBUTION SYSTEMS	57.00	28,500.00
						*ES FOODS		
57	Υ		PAN RELEASE, AEROSAL, HIGH YIELD, MINIMUM 90% OIL, NO WATER, GRAIN ALCOHOL, SALT, OR INORGANIC COMPOUNDS, ZERO CALORIES PER SPRAY, NO CFC'S OR ADDED TRANS- FATS, 6/14 OZ/CS	800	CS	PLZ CORP	20.22	16,176.00
			TATS, 67 14 02/CS			*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	26.06	20,848.00
58	Y		PASTA, PENNE, 51% WHOLE GRAIN, 20# CASE	500	CS	BARILLA AMERICA INC	29.01	14,505.00

					AND INDEPENDENT SCHOOL		
	Award Reason (Y/N)	Item Description	Quantity	UOM	Supplier	Price Ex	xtended Price
59		PASTA, PENNE, ENRICHED FLOUR. 20# CASE	250	CS	BARILLA AMERICA INC	23.08	5,770.00
60	Y	PASTA, PENNE, LENTIL, GLUTEN-FREE, VEGAN, 2/5 LB/CS	250	CS	BARILLA AMERICA INC	22.80	5,700.00
					BASIC AMERICAN INC	54.52	13,630.00
61	Y	PASTA, LASAGNA SHEETS, 51% WHOLE GRAIN, NO BOIL, 13.250Z/PKG, 6/CS OR SIMILAR	300	CS	BARILLA AMERICA INC	26.16	7,848.00
62	Y	PASTA, ROTINI, ENRICHED GRAIN,	250	CS	BARILLA AMERICA INC	23.08	5,770.00
63	Y	PEACHES, SLICED, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, GRADE B, 6/#10 CANS/CS.Product of US preferred.	5,000	CS	*BRAUN BEEF CO INC	34.24	171,200.00
					ROBBINS SALES COMPANY, INC.	37.90	189,500.00
					THE MASTERS DISTRIBUTION SYSTEMS	40.50	202,500.00
					SCHREIBER FOODS INTERNATIONAL INC	41.30	206,500.00
					*CHURCHFIELD TRADING COMPANY		

Ln	# Award	Reason	Item Description	JLATION Quantity		D INDEPENDENT SCHOO Supplier		Extended Price
	(Y/N)	270	DEADS DISER DARTHETT	2.000	66	ATLANTIC DEVEDAGE	24.24	40.500.00
6	4 N	3TQ	PEARS, DICED, BARTLETT, GRADE B, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, 6/#10/CS. Product of US preferred.	2,000	CS	ATLANTIC BEVERAGE COMPANY	24.34	48,680.00
	N	3TQ				*BRAUN BEEF CO INC		
	Y					SCHREIBER FOODS INTERNATIONAL INC	31.55	63,100.00
						THE MASTERS DISTRIBUTION SYSTEMS	33.00	66,000.00
						ROBBINS SALES COMPANY, INC.	35.90	71,800.00
						*CHURCHFIELD TRADING COMPANY		
6	5 Y		PEAS, BLACKEYED, DRY PEAS REHYDRATED AND CANNED, FANCY, 6/#10 CANS/CS	500	CS	BUSH BROTHERS & COMPANY	28.53	14,265.00
						*CHURCHFIELD TRADING COMPANY		
6	6 Y		PICKLES, DILL, SLICED HAMBURGER CHIP STYLE, NO MORE THAN 300mg SODIUM PER 1 OZ SERVING, 4/1 GAL/CS	500	cs	SCHREIBER FOODS INTERNATIONAL INC	23.35	11,675.00
						THE MASTERS DISTRIBUTION SYSTEMS	25.25	12,625.00
6	7 Y		PINEAPPLE TIDBITS, LIGHT SYRUP, POUCH PACKS, SHELF STABLE, 6/8OZ/CASE	800	CS	THE MASTERS DISTRIBUTION SYSTEMS	42.69	34,152.00

100 100		Ln #	Award	Reason	Item Description	Quantity		D INDEPENDENT SCHOOI Supplier		Extended Price
UIGHT SYALP OR ARTURAL INICE PACK GRADE A PRODUCT OF USA PREFERRED, 6/410 CANS/CS			(Y/N)							
SCHEGGER FOODS 31.70 79,250.00		68	N	3TQ	LIGHT SYRUP OR NATURAL JUICE PACK, GRADE A, PRODUCT OF USA	2,500	CS		26.90	67,250.00
ATLANTIC BEVERAGE			Y					*BRAUN BEEF CO INC		
COMPANY THE MASTERS DISTRIBUTION SYSTEMS *CHURCHFIELD TRADING COMPANY *CHURCHFIELD TRADING COMPANY *CHURCHFIELD TRADING COMPANY *AMERICANINC \$4.52 163,560.00 *CHURCHFIELD TRADING COMPANY *BASIC AMERICANINC \$4.52 163,560.00 *SA.52 163,560.00 *AMERICANINC \$4.52 163,560.00 *SA.52 163,560.00 *AMERICANINC \$4.52 163,560.00 *AMERICANINC \$4.52 163,560.00 *AMERICANINC *AMERICANINC									31.70	79,250.00
DISTRIBUTION SYSTEMS									31.82	79,550.00
COMPANY COM									34.00	85,000.00
PREMIUM PEARLS, NO TRANS FATS, VEGETARIAN, GLUTEN FREE, NO MORE THAN 350mg OF SODIUM PER SERVING, 10/29.3 OZ POUCHES/CS 70 Y RAISINS, GOLDEN,FLAVOR VARIETY, NO ADDED SUGAR OR ARTIFICIAL FLAVORS, 1.33 OZ BOX, 144/CS *BRAUN BEEF CO INC *BRAUN BEEF CO INC RAISINS, INDIVIDUAL, 1.33 OZ BOX, 144/CS OR SIMILAR *SUN MAID GROWERS OF FALSE SUN MAID GROWERS OF FALS SUN MAID GROWERS OF FALSE SUN MAID GROWERS FALSE SUN MAID GROWERS FALSE SUN MAID GROWERS FALSE SU										
VARIETY, NO ADDED SUGAR OR ARTIFICIAL FLAVORS, 1.33 OZ BOX, 144/CS *BRAUN BEEF CO INC *BRAUN BEEF CO INC RAISINS, INDIVIDUAL, 1.33 OZ BOX, 144/CS OR SIMILAR *SUN MAID GROWERS OF 49.95 42,457.50		69	Y		PREMIUM PEARLS, NO TRANS FATS, VEGETARIAN, GLUTEN FREE, NO MORE THAN 350mg OF SODIUM PER SERVING,	3,000	cs	BASIC AMERICAN INC	54.52	163,560.00
71 RAISINS, INDIVIDUAL, 1.33 OZ BSO CS *NATIONAL FOOD GROUP INC SUN MAID GROWERS OF 49.95 42,457.50		70	Y		VARIETY, NO ADDED SUGAR OR ARTIFICIAL FLAVORS, 1.33	800	CS		64.48	51,584.00
BOX, 144/CS OR SIMILAR INC SUN MAID GROWERS OF 49.95 42,457.50								*BRAUN BEEF CO INC		
		71				850	CS			
									49.95	42,457.50

	A 1	Doss				ID INDEPENDENT SCHOOL		Cuton ded D.:
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UUIVI	Supplier		Extended Price
						THE MASTERS DISTRIBUTION SYSTEMS	75.75	64,387.50
	Y					*CHURCHFIELD TRADING COMPANY		
72	Y		RANCH, P.C., SHELF STABLE, 1.5 OZ	800	CS	THE MASTERS DISTRIBUTION SYSTEMS	18.60	14,880.00
						*BRAUN BEEF CO INC *CHURCHFIELD TRADING		
770				400		COMPANY	22.40	0.070.00
73	N	3TQ	RANCH (BUTTERMILK) DRESSING, DRY MIX, NO MORE THAN 50mg SODIUM PER SERVING SIZE, NO ARTIFICIAL COLORS OR FLAVORS, 18 PKGS/CS	400	CS	THE MASTERS DISTRIBUTION SYSTEMS	22.19	8,876.00
	N	9PS				*BRAUN BEEF CO INC		
	Y					KENT PRECISION FOODS INCORPORATED	25.30	10,120.00
74			RICE, BROWN, LONG GRAIN, 51% WHOLE GRAIN, PARBOILED, 25# BAGS, UNCLE BEN'S OR EQUAL	300		THE MASTERS DISTRIBUTION SYSTEMS	28.47	8,541.00
77	Y		SALSA, VERDE, 260MG SVGS OR LESS	50	CS	THE MASTERS DISTRIBUTION SYSTEMS	44.76	2,238.00
78	N	9PS	SAUCE, BARBECUE, LOW SODIUM, BULK	200	CS	THE MASTERS DISTRIBUTION SYSTEMS	45.28	9,056.00

						D INDEPENDENT SCHOOL		
	Award (Y/N) Y	Reason	Item Description	Quantity	иом	*CALFED FINANCIAL CORPORATION	Price	Extended Price
80	Y		SAUCE, BUFFALO WING, BLEND OF CAYENE PEPPER AND VINEGAR, NO MARGARINE, 4/1GAL CS	100	CS	THE MASTERS DISTRIBUTION SYSTEMS *CHURCHFIELD TRADING COMPANY	43.98	4,398.00
81	Y		SAUCE, HOISON, LOW	150	CS	THE MASTERS	39.61	5,941.50
			SODIUM, 4/5#/CS			DISTRIBUTION SYSTEMS		
						SCHREIBER FOODS INTERNATIONAL INC	41.70	6,255.00
82	N	9PS	SAUCE, GENERAL TSO, LOW SODIUM, 4/5#/CS	150	CS	INTERNATIONAL FOODS SOLUTIONS INC	54.55	8,182.50
	N	1NL				THE MASTERS DISTRIBUTION SYSTEMS	62.70	9,405.00
	Y					NIPPON SHOKKEN U S A	64.00	9,600.00
83	Y		SAUCE, MANGO HABANERO, 6/4.9#	400	CS	THE MASTERS DISTRIBUTION SYSTEMS	41.18	16,472.00
						NIPPON SHOKKEN U S A	95.00	38,000.00
84	N	4MO	SAUCE, SOY, LOWER SODIUM, NO MORE THAN 575mg PER TLB, 6/1/2 GAL PLASTIC BOTTLES/CS	150	CS	SCHREIBER FOODS INTERNATIONAL INC	27.15	4,072.50

1 - 4	Award	D		JLATION Quantity		ND INDEPENDENT SCHOO		Extended Price
LII#	(Y/N)	Reason	Item Description	Quantity	UOW	Supplier		
	Y					THE MASTERS DISTRIBUTION SYSTEMS	44.83	6,724.50
85	Y		SAUCE, TERIYAKI, LOW SODIUM, 4/5#	300	CS	THE MASTERS DISTRIBUTION SYSTEMS	42.63	12,789.00
						NIPPON SHOKKEN U S A	46.00	13,800.00
						INTERNATIONAL FOODS SOLUTIONS INC	59.25	17,775.00
86	Y		SAUCE, KOREAN BBQ, SHELF STABLE, 6/.5 GALLON/CS	900	CS	THE MASTERS DISTRIBUTION SYSTEMS	46.01	41,409.00
87	Y		SAUCE, SIRACHA 6/17 OZ/CASE	150	CS	SCHREIBER FOODS INTERNATIONAL INC	36.20	5,430.00
88	Y		SAUCE, SWEET THAI CHILI, 6/33.8 OZ./CASE	50	CS	SCHREIBER FOODS INTERNATIONAL INC	31.45	1,572.50
						THE MASTERS DISTRIBUTION SYSTEMS	59.32	2,966.00
						NIPPON SHOKKEN U S A	66.00	3,300.00
91	Y		SEASONING, CREOLE, NO SALT, 6/5 OZ	100	CS	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	55.69	5,569.00

In#	Award	Reason	Item Description	Quantity		D INDEPENDENT SCHOOL Supplier		Extended Price
LII#	(Y/N)	Reason	item description	Quantity	OOW	Supplier	Price	exteriued Price
92	Y		SEASONING, LEMON & CRACKED PEPPER, NO SALT, NO SUGAR, NO MSG, 6/19.2 OZ/CS, CHEF PAUL SEASONING BLEND OR EQUAL	80	cs	*BRAUN BEEF CO INC THE MASTERS DISTRIBUTION SYSTEMS	96.95	7,756.00
93	Y		SEASONING, MAGIC CREOLE, NO SALT, NO SUGAR, NO MSG, 6/19.2 OZ/CS, CHEF PAUL MAGIC SEASONING BLEND OR EQUAL	80	CS	*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	44.81	3,584.80
94	Y		SEASONING, TACO MIX, REDCUDED SODIUM, 6/9 OZ/ CASE	60	CS	KENT PRECISION FOODS INCORPORATED	20.54	1,232.40
						*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	49.09	2,945.40
95	Y		SEASONING, TOASTED ONION & GARLIC, NO SALT, NO SUGAR, NO MSG, 6/16 OZ/CS, CHEF PAUL SEASONING BLEND OR EQUAL		cs	*BRAUN BEEF CO INC	32.04	1,602.00
						THE MASTERS DISTRIBUTION SYSTEMS	90.36	4,518.00
96	N	4NS	SEASONING, PIZZA & PASTA MAGIC, LOW SALT, NO SUGAR, NO MSG, 6/19.2 OZ/CS, CHEF PAUL MAGIC SEASONING BLEND OR EQUAL	50	CS	KENT PRECISION FOODS INCORPORATED	21.45	1,072.50
	Y					*BRAUN BEEF CO INC		

		1-				ND INDEPENDENT SCHOOL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price E:	xtended Price
						THE MASTERS DISTRIBUTION SYSTEMS	44.28	2,214.00
97	Y		SEASONING PACKETS, FRUIT SEASONING, CONTAINS CHILI PEPPERS, SALT AND DEHYDRATED LIME JUICE, NO MORE THAN 130mg SODIUM PER 1 GRAM PACKAGE, TAJIN BRAND OR EQUAL.	250	CS	THE MASTERS DISTRIBUTION SYSTEMS	44.15	11,037.50
98	Y		SLUSH DRINKS, VARIETY FLAVOR, 100% JUICE, CREDITS AS 0.5 CUP FRUIT, SHELF STABLE, 60/CS	500	CS	TROPICAL PARADISE INC	19.65	9,825.00
99	Y		SLUSH DRINKS, VEGETABLE, FLAVOR VARIETY, INDIVIDUALLY PACKAGED, 100% JUICE, CREDITS AS A 0.5 CUP VEGETABLE, SHELF STABLE, 60/CS	500	CS	TROPICAL PARADISE INC	22.50	11,250.00
100	Y		SOUP BASE, BEEF, SALT FREE, NO MSG, NO TRANS FAT, PASTE FORM ONLY, LIQUID NOT ACCEPTED, INGREDIENT STATEMENT READS BEEF AND BEEF STOCK, ETC, 64 TO 1 CONCENTRATE, 12/1# CS	500	CS	THE MASTERS DISTRIBUTION SYSTEMS	43.54	21,770.00
101	Y		SOUP BASE, CHICKEN, SALT FREE, NO MSG, NO TRANS FAT, PASTE FORM ONLY, NO LIQUID, INGREDIENT STATEMENT MUST READ CHICKEN, INCLUDING NATURAL CHICKEN JUICES,	500	CS	THE MASTERS DISTRIBUTION SYSTEMS	42.97	21,485.00
102	Y		SOUP BASE, CREAM, DRY MIX, NO TRANS FAT, NO MORE THAN 9 GRAMS OF FAT AND 950mg SODIUM PER SERVING, LOWER PREFERRED, 6/28oz/CS	500	CS	THE MASTERS DISTRIBUTION SYSTEMS	50.78	25,390.00
	N	3TQ				KARLSBURGER FOODS	49.00	24,500.00
103	Y		SOUP BASE, VEGETABLE. NO ADDED MSG. JUST ADD WATER.	150	CS	THE MASTERS DISTRIBUTION SYSTEMS	53.43	8,014.50
	N	зто				KARLSBURGER FOODS	45.00	6,750.00
104	Y		SOUP, CREAM OF MUSHROOM, REDUCED SODIUM, 12/50 OZ CANS/CS	500	CS	*BRAUN BEEF CO INC		

	.1	1_				D INDEPENDENT SCHOOL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	(1714)					THE MASTERS DISTRIBUTION SYSTEMS	52.07	26,035.00
105	Y		SPICE, BLACK PEPPER, FINE GROUND, 24 OZ OR LESS, 6/CS	40	CS	THE MASTERS DISTRIBUTION SYSTEMS	56.23	2,249.20
107	Y		SPICE, CHILI POWDER, GROUND, MILD ROBUST	40	CS	THE MASTERS DISTRIBUTION SYSTEMS	28.93	1,157.20
109) Y		PLAVOR, AMERICAN MADE PRODUCT ONLY, 24 OZ OR LESS, 6/CS SPICE, CINNAMON, GROUND,	40	CS	THE MASTERS	36.55	1,462.00
103	1		24 OZ OR LESS, 6/CS	40	G.	DISTRIBUTION SYSTEMS	30.33	1,462.00
110	Y		SPICE, CUMIN, GROUND, 24 OZ OR LESS, 6/CS	40	cs	THE MASTERS DISTRIBUTION SYSTEMS	28.33	1,133.20
111	Y		SPICE, GARLIC, GRANULATED, AMERICAN MADE PRODUCT ONLY, 24 OZ OR LESS, 6/CS	40	CS	THE MASTERS DISTRIBUTION SYSTEMS	54.85	2,194.00
112	Y		SPICE, ONION, GRANULATED, AMERICAN MADE PRODUCT ONLY, 1#	40	CS	THE MASTERS DISTRIBUTION SYSTEMS	53.81	2,152.40
113	Y		SPICE, PAPRIKA, SMOKED, 24 OZ OR LESS, 6/CS	40	cs	THE MASTERS DISTRIBUTION SYSTEMS	88.10	3,524.00
114	Y		SPICE, PARSLEY, DRIED, 24 OZ OR LESS, 6/CS	80	CS	THE MASTERS DISTRIBUTION SYSTEMS	23.95	1,916.00
115	Y		SPICE, OREGANO, LEAVES, DRIED, 1 #	100	EA	THE MASTERS DISTRIBUTION SYSTEMS	45.85	4,585.00
116	Y		SPICE, PEPPER, RED CRUSHED, BULK	50	CS	THE MASTERS DISTRIBUTION SYSTEMS	22.30	1,115.00

	Award Re	eason Item Description	Quantity	иом	Supplier	Price	Extended Price
	(1/14/						
118	Y	SPORTS DRINK, ZERO, FLAVOR VARIETY, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE	1,500	CS	THE MASTERS DISTRIBUTION SYSTEMS	23.00	34,500.00
119	Y	SPORTS DRINK, G2, FLAVOR VARIETY, LOW CALORIE, NO MORE THAN 60 CAL PER 12 OZ BOTTLE	800	CS	THE MASTERS DISTRIBUTION SYSTEMS	15.05	12,040.00
120	Y	STUFFING MIX, MADE WITH A BLEND OF CORNBREAD AND OTHER SPECIALTY BREADS, LARGE AND VARIED CUTS OF BREAD COMBINED WITH CLELERY, ONION, HERBS, AND SEASONINGS, PREPARED	500	CS	*BRAUN BEEF CO INC		
		WITH HOT WATER ONLY, NO TRANS FATS, 6/32OZ			THE MASTERS DISTRIBUTION SYSTEMS	71.13	35,565.00
					KENT PRECISION FOODS INCORPORATED	81.57	40,785.00
121	Y	SUGAR SUBSTITUTE, P.C., 1 GR, 2000/CS	20	CS	THE MASTERS DISTRIBUTION SYSTEMS	21.00	420.00
127	Y	SYRUP, PANCAKE & WAFFLE, MAPLE FLAVOR, P.C., 1.5 OZ CUP PREFERRED, 100/1.5 OZ CUPS/CS OR SIMILAR, DIAMOND CRYSTAL #75901 OR SIMILAR	4,000	CS	THE MASTERS DISTRIBUTION SYSTEMS	15.00	60,000.00
					*CHURCHFIELD TRADING COMPANY		
128	Y	SYRUP, SUGAR-FREE, PC 100 / 1.5 OZ.	4,000	CS	THE MASTERS DISTRIBUTION SYSTEMS	14.51	58,040.00
					*CHURCHFIELD TRADING COMPANY		
129	Y	TEA BAGS, GOOD QUALITY, 48/1 OZ OR 96/1 OZ	100	CS	THE MASTERS DISTRIBUTION SYSTEMS	29.50	2,950.00

		Award (Y/N) Y	Reason	Item Description TOASTER PASTRIES, 51%	Quantity		Supplier		Extended Price
-				TOASTED DASTRIES 51%					
				WHOLE GRAIN, FLAVOR VARIETY, SINGLE PACK ONLY, DOUBLE NOT ACCEPTED, MUST BE SMART SNACK COMPLIANT	1,000	cs	THE MASTERS DISTRIBUTION SYSTEMS	38.95	38,950.00
1	131	Y		TOMATOES, DICED, PACKED FROM FRESH TOMATOES ONLY, 6/#10 CANS/CS	200	CS	*CALFED FINANCIAL CORPORATION *BRAUN BEEF CO INC		
							THE MASTERS DISTRIBUTION SYSTEMS	34.89	6,978.00
		N	3TQ				*CHURCHFIELD TRADING COMPANY		
1	132	Y		TORTILLA CHIPS, 51% WHOLE GRAIN CORN, UNSALTED, PRE- FRIED IN VEGETABLE OIL, NO TRANS FAT, 3/2# BAG/CS	8,000	CS	THE MASTERS DISTRIBUTION SYSTEMS *BRAUN BEEF CO INC	16.84	134,720.00
	133	N	4BV	VINEGAR, RED WINE, 4/1 GAL	400	CS	*BRAUN BEEF CO INC		
							THE MASTERS DISTRIBUTION SYSTEMS	27.30	10,920.00
		Y					*CHURCHFIELD TRADING COMPANY		
1	134			VINEGAR, WHITE, 5% ACIDITY, GOOD QUALITY, 4/1 GAL/CS	1,000	CS	*BRAUN BEEF CO INC		

						ND INDEPENDENT SCHOO		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
						THE MASTERS DISTRIBUTION SYSTEMS	19.44	19,440.00
	Y					*CHURCHFIELD TRADING COMPANY		
135	Y		WALKING TACO, NACHO DORITO, WHOLE GRAIN RICH,	1,500	CS	THE MASTERS DISTRIBUTION SYSTEMS	21.50	32,250.00
100			MUST CREDIT AS 2 GRAIN	45.000				
136	Y		WATER, BOTTLED, FILTERED UNFLAVORED IN PLASTIC SCREW TOP BOTTLES, TRUCKLOAD ORDERS, 24/16.9 OZ/CS, NESTLE PURE LIFE, OZARKA, OR OTHER NATIONAL BRAND	15,000	CS	ATLANTIC BEVERAGE COMPANY	3.55	53,250.00
			PERFERRED			*BRAUN BEEF CO INC		
						THE MASTERS DISTRIBUTION SYSTEMS	5.16	77,400.00
137	Y		COLD BREW COFFEE CONCENTRATE, PURE BLACK COLD BREW COFFEE, 6/32OZ./CASE	500	CS	THE MASTERS DISTRIBUTION SYSTEMS	32.61	16,305.00
138	Y		CHOCOLATE BEVERAGE SYRUP, SUGAR-FREE. FOUR 1 LITER PLASTIC BOTTLES/CASE. PUMPS INCLUDED. 1 PUMP TO EQUAL 0 CALORIES. MONIN M-FS024F OR EQUAL	100	CS	THE MASTERS DISTRIBUTION SYSTEMS	29.72	2,972.00
139	Y		FRENCH VANILLA BEVERAGE SYRUP, sUGAR-FREE, 4-1 LITER/CS.	100	CS	THE MASTERS DISTRIBUTION SYSTEMS	29.72	2,972.00
140	Y		CARMEL BEVERAGE SYRUP, sUGAR-FREE, 4-1 LITER/CS	100	CS	THE MASTERS DISTRIBUTION SYSTEMS	29.72	2,972.00
141	Y		CHANA MASALA SPICE PACK, 10# 6/CASE	100	CS	FILL MY RECIPE	12.50	1,250.00
								<u> </u>

	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
142	Y		CURRIED VEGETABLE SPICE PACK, 10# 6 PK/CASE	100	cs	FILL MY RECIPE	75.00	7,500.00
143	Y		CHICKEN TIKA MASALA SPICE PACK, 10# 6 PK/CS	100	CS	FILL MY RECIPE	75.00	7,500.00
144	Y		INDIAN MASALA SIMMER SAUCE, GLUTEN-FREE, 6 1/2 GAL PER CS	100	CS	FILL MY RECIPE	194.95	19,495.00